ax ¥

\“‘ﬂ

g ¥ & A7 (1 #K)
pEp (R i EX ICHN IV R I )
ig Bl E ¥ 8 B | [0F e ;, #nE
Z:‘FT A’*L‘FT P fﬁ_:* P (kcal)
171 | - ~ e ALiE- X

s ek ” %ot 2% o
12 | = | 6| a8k | FEWE | ERFR | g E 49 (26|18 |25 |0.0 [696.0
B B HE ¥ BT
Jol | ‘r VENEF S BB 2 + o1 ¥ ¥ 445
13 | = | g | FROFFR| =REFE | GEFE  FRESE ) Ly 149 (25 |15 |25 |10 7410
+Fn$ Rk | FrrE s <éF FTE liE RN
e A4 o s
T ] 4% = t # é’,’;‘p}@”'g
14 | v |sepas| ©FFT SR . Mo 2R w50 [ 2.5 | 1.6 [ 2.5 0.0 [690.0
e AR A L j; NP !
O
- , EVFF ey B % | G R F T 2R
1/5 5 g A "R f n =R 5.0 [2.4 [1.5 | 2.5 |0.0 |680.0
i|ws FE it BE A ¥ iz
Uy L %2 R B 2 i | oms g
18 | = | st | TEMAS | FAEA ) FEBNE | BEEEE g 49|25 |17 |25 |10 |7460
Ma s AANE A fr g L

2 3 R H gL e g a A 3
19 | = | st x| 7 *};Xﬂ*ﬁt A B ,%7*?, 50 |25 [1.8 |25 |00 [695.0
o L£Ezd o + B~ 4

gz -\ R e ;,.» 2 e o s
110 | = | sx | EESE | RWEE L GEREE B FEEF | e 150 |25 |17 |25 |10 7530
B " F ERH 5 R TREE BE SR
g s A B e .
V11 | w | g e | RFIE | RREd o £ T B 50 |25 |17 |25 |0.0 |693.0
I FERE i K XS
e
s | FFERS | RRESF | FBIPRE | B ALF
V12 | 7 || DERET ) BRSS | FEIE LA 50 |24 |18 [2.4 |0.0 |683.0

O £ C T B iR # M ol B 4t o
115 | = | 6 goc| BH 8 hirE Kk Pﬁ:%j% fj’f%‘”’j’fi k% |50 |26 |17 |25 |10 |760.0
* MER Stk

116 | = |#egax| ATHE® F¥ ¥ *oREEE i*—‘i%’i 50 [25 |15 |25 [0.0 [688.0
I 2] 3 3 R §
5 ¥ FRE 4 = | ] %
17|z | e | *E PRI G BeREE ] EER2 g 160 (26 |17 |25 | 1.0 |760.
Iz #% | 0, AN et n it k% [5.0 (26|17 |25 |1.0 |760.0
T fod 0 g A& §)ﬁ_;”f . e
N 8 A fa ) fa %% z EAETE |, .
118 | w | # &4 S R % % ¥ Yoy |FA7|50 (251812500 16950
FOF
-l 2 3
e . p%mﬁg s s
119 | 7 | sepac| 7700 B | MRRLEE i A 50 |25 (1.8 |25 |0.0 |695.0
RESEYTE | R CBRE s B A

BN AR A~~~ HAPPY
AREERT LR EH b B8 EARR




